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As we already know from 1.11 that for every two rational number is an irrational
number in between

This means that for every I value the values will fluctuate between 0 and 1 at every
number in T

Hence there is no value of I where fl[a:]l continuous at interval |[{], 1] — R
Therefore fl[.‘I:]l is discontinuous everywhere in .
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Post subject: Re: 4.6

Abigail Chaidez wrote:

As we already know from 1.11 that for every two rational number is an irrational
number in between

This means that for every I value the values will fluctuate between 0 and 1 at
every number in ¢t

Hence there is no value of Iy where fl[_-r]l continuous at interval |['[I, 1] — R
Therefore _fl[m]l is discontinuous everywhere in .

Then do we assume its continuous and solve for 2 cases ?
Case 1

So you are saying if I is rational, then fl[.'l:g) =1
Also, 3Yoinzg — 8 < x < x0+ 8

s.t Y0 is irrational, :;-_f{yg:] =0 :>| 1 —10 |{j %assumingg = %
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It is not possible so it is not continuous on rational numbers.

Case 2

Similarly if g is irrational, then _fl[.'l:g) =10

Also Jsome Yoinzng — & < x < g + 0O

s.t rational, = f(yg) =1

=[1-0 |¢:: 5 again assuming & = é

It is not possible elther Therefore, it is not continous on irrational numbers.
Hence the function is nowhere continuous
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Post subject: Re: 4.6 [1 Posted: Thu, 07 May 2020 22:49

Quote:

Then do we assume its continuous and solve for 2 cases ?

Case 1

So you are saying if & is rational, then fl[.']{:[]:] =1

Also, JYoinzg —d < x < xo + 0 _ _
s.t Yo is irrational, :}.-f{ygj =0 :;.~| 1—10 |«::" %assumingg — é—}

It is not possible so it is not continuous on rational numbers.

Case 2

Similarly if Zgis irrational, then fl[:l:[]) =10

Also Jsome Yoingg — & < x < xg + 0

s.t rational, = f(yg) =1

:;=-| 1—10 |:::" = again assuming £ — é

It is not possible elther Therefore, it is not continous on irrational numbers.
Hence the function is nowhere continuous

Hi Jocelyne,
Yes the way you proved it is the way | explained it in words | just didn't know how to
put the prove together | do see a typo in the irrational portion though.

| 0—1 |«:::j = assuming £
Because it should look like thlsf.:r_.' — I |::i €
Overall | think your prove it correct.
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Post subject: Re: 4.6 [b Posted: Thu, 07 May 2020 23:59

Lets see if these changes help.

Take g = % =~
Let us assume that the given function is continuous. Thus means, 3¢ == ()
s.tl f(;ED]I — f(.'r:] |~:‘; %Whenever T — Ip |{: )

www.sosmath.com/CBB/viewtopic.php?f=328&t=776618&p=279733#p279733

2/4


http://www.sosmath.com/CBB/memberlist.php?mode=viewprofile&u=150577
http://www.sosmath.com/CBB/ucp.php?i=pm&mode=compose&action=quotepost&p=279717
mailto:jperez48@miners.utep.edu
http://www.sosmath.com/CBB/posting.php?mode=edit&f=32&p=279717
http://www.sosmath.com/CBB/posting.php?mode=quote&f=32&p=279717
http://www.sosmath.com/CBB/viewtopic.php?p=279718#p279718
http://www.sosmath.com/CBB/memberlist.php?mode=viewprofile&u=150574
http://www.sosmath.com/CBB/ucp.php?i=pm&mode=compose&action=quotepost&p=279718
mailto:achaidez4@miners.utep.edu
http://www.sosmath.com/CBB/posting.php?mode=edit&f=32&p=279718
http://www.sosmath.com/CBB/posting.php?mode=quote&f=32&p=279718
http://www.sosmath.com/CBB/viewtopic.php?p=279722#p279722
http://www.sosmath.com/CBB/report.php?f=32&p=279717
http://www.sosmath.com/CBB/mcp.php?i=main&mode=post_details&f=32&p=279717&sid=9fa893d70f3602bd39984b0deb51ef13
http://www.sosmath.com/CBB/mcp.php?i=warn&mode=warn_post&f=32&p=279717&sid=9fa893d70f3602bd39984b0deb51ef13
http://www.sosmath.com/CBB/posting.php?mode=delete&f=32&p=279717
http://www.sosmath.com/CBB/report.php?f=32&p=279718
http://www.sosmath.com/CBB/mcp.php?i=main&mode=post_details&f=32&p=279718&sid=9fa893d70f3602bd39984b0deb51ef13
http://www.sosmath.com/CBB/mcp.php?i=warn&mode=warn_post&f=32&p=279718&sid=9fa893d70f3602bd39984b0deb51ef13
http://www.sosmath.com/CBB/posting.php?mode=delete&f=32&p=279718

5/8/2020 S.0.S. Mathematics CyberBoard * View topic - 4.6
Then we solve for 2 Cases
Case 1
So you are saying if [ is rational, then fl[:l:g) =1
Also, JYoinzg — 6 < x < xp + 0
s.t Yo is irrational, :}.-_f{yg:] =0 :>| 0—1 |«::" %assuming E =
It is not possible so it is not continuous on rational numbers.
Case 2
Similarly if s irrational, then _fl[.'l:g) =10
Also Jsome Yoinzng — & < x < g + 0O
s.t rational, = f(yg) =1
:;:-| 1 —0 |¢:: %again assuming £ — %
It is not possible either Therefore, it is not continous on irrational numbers.
Hence the function is nowhere continuous[/quote]
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helmut Post subject: Re: 4.6 [ Posted: Fri, 08 May 2020 12:24
Correct. 1 credit to Jocelyne.
Site Admin

Alternatively, one could have used 3.6 and 4.1.

The greater danger for most of us lies not in setting our aim too high and falling short; but in setting
our aim too low, and achieving our mark. - Michelangelo Buonarroti

Joined: Sat, 26 Apr 2003 E] @
15:14
Posts: 2286
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